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Instruction 5388

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARWCE BB ERIAR/N A, 78 A ZEB B ekt 1

. 'This is a 30 question multiple choice test. For each question, only one answer choice is correct.
EA-EAUMGEERFENNRN, SEEE A —MEIERER.

. Each question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 120 points.

FEEEMARENSME, FEENS, BHEEER/00 . ARWHKRS %1205)

. Mark your answer to each problem on the answer form with a #2 pencil. Check the blackened circles for
accuracy and erase errors and stray marks completely. Only answers properly marked on the answer form will
be scored.

RIS TE R SR # 28R EAREE R R b W RO AR R Y PR 0 [ PR P MR, AR B 58
SERERAOERMSRIEGT. RAREEEESE R EHERS YT

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

HAEFEA ARG TAsA. R BAGSAIR BRI TR sHST4E A AT AR . Wald i
A7 AT A ] R 2 7 B P B o
. Figures are not necessarily drawn to scale.

WA — e LA R

. Before beginning the test, make sure to record your name, school name and Competition ID on the answer
form, especially to bubble in the 8-digit Competition ID completely!

FERARGBIRAZ AT, FERERTAMRI AT, BEAMMEE @ IRBURTERE R L, Feh 8 IS R ota
BT AR AR A SRS IHT P

. You will have 75 minutes to complete the test once your proctor tells you to begin.

BB ZEEATPIIRTR VR4S 53 SR IR ] 52 el o
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Part 1: 10 problems, 3 points each | £—#4% : 10 8&EE » &35

1. Carrie has started to draw a cat.

Carriefa & — &5 -

She finishes her drawing by adding more color. Which of the figures below can be her drawing?
it 3E8 AN N B 5 B € 2R SE AR R o TS T A1 IR S T R b

PN PN " r\ r\
(A) a (B) a (©) (D) (E)

2. The Mayan people wrote numbers with dots and bars. A dot is written for 1 and a bar for 5.
How did they write 177

HEHE A\ A BEAIIR AR R R - —EREAAERL » — A RMRARS - Mt P EER 1T ?
° o0 0000
®

(B) (D)

(A)

(©)

(E)
3. A digital clock shows the time 20:19. What will the clock show the next time it uses the same

digits?
B R BEUR IR [H]20:19  FRFSETE T CBE A RIARAY B L B IR o BRUR 4GRS 2

20: 19
L2094y 092l 209
0912 0219

4. There are 14 girls and 12 boys in a kindergarten. If half of the children go for a walk, at least
how many of them are girls?

HREER 1AL ZM2EEZ - WRE—FHEFEHS » BELFRIE L DELE?
(A)5 (B) 4 (C)3 (D) 2 (E) 1

(E)
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5. The sum of the dots on opposite faces of an ordinary dice is equal to 7. Which of the following
shows the ordinary one?

Ol BT A T RIRE B FNSEIRT o B LU R — (R BURH 2 E B R T ?

(A) (B) (C) (D) (E)

6. Which of the following geometric figures is not in this design?
DT W8 28 ] BB o2 AN 12 S Rt B S 2

2

triangle =% (B) square 1E /7%

(4) A
(C) O regular hexagon 1E75E% (D) regular octagon IF/\;&¥
(E) O regular dodecagon 1+ —87%

Laura wants to colour a 2 X 2 square of the above figure. How many possibilities are there?

Laura8Z 44 Eilt WY+ H—E2 x 2B g o g L/ DA fet: ?
(A)5 (B) 6 ()7 (D)8 (E)9

8. The 6 smallest odd natural numbers are written on the faces of a dice. Toni throws it three times
and adds the results. Which of the following numbers cannot be the sum?

/N6 ME B B AR B A — AR FROAEE L o Tonidit#8 7@ EET =K » I HiFFrigrI%E R
FEON o LUTWRME B AT e 2 E @A 2

(A) 21 (B) 3 (C) 20 (D) 19 (E) 29
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9. The sum of the ages of a group of kangaroos is 36 years. In two years time the sum of their ages
will be 60 years. How many kangaroos are in that group?

— RSB R AN A364F - MELMR » AR ERAEFEBB0E - MENRFHXEL LA ?
(A) 10 (B) 12 (C) 15 (D) 20 (E) 24

10. Michael paints the following buildings made up of identical cubes. Their bases are made of 8
cubes. Which building needs the most paint?
Michael% FHARE 32 77 B A BHY LR AR B MR © B PRV AR AR 2 B 818 32 77 REAE AL - PR E S
T B 2 TR 2

(A) § (B) % (©)
(D) % (E) %

Part 2: 10 problems, 4 points each | 8 _#B4 : 10 EEE » 845

11. On each of three pieces of paper a three digit number is written. Two of the digits are covered.
The sum of the three numbers is 826. What is the sum of the two covered digits?
SREF B REERA —E=(8 - HTFAMEBRFSOEET o 85 ={A8r% 2826 - fiE
MESCEEN BRI RES D ?

(A)7 (B) 8 (©)9

12. Riri the frog usually eats 5 spiders a day. When Riri is very hungry, she eats 10 spiders a day.
She ate 60 spiders in 9 days. How many days was she very hungry?
FHHERIriE 7 B RIZ5 Ak o ERirERHLERAIR RBEF » Mt Kiz10 A8k - FEIRIZ T60 R
BRIk o Pt A A RARBILAR 2

(A)1 (B) 2 (C)3 (D) 6 (E)9

(D) 10 (E) 11
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13. Pia plays with a yardstick consisting of 10 sticks (see picture). Which of the following figures
cannot be formed with this yardstick?

PiafE 5t — 1l 1082 FARAEIER R (S0 ) o T e Wb B PR A 0 A @ (AR R P i 2

(A) (B) (©) (D) (E)

14. Five equal squares are divided into smaller squares. Which square has the largest black area?

TERERIBIIETT FEB IR T /INIETT T = RIUERE 175 7% b AR B0 O T AR K ?

(A) .j (B) 3 (©) (D) (E)

15. A big triangle is divided into equilateral triangles as in the figure. The side of the small gray
triangle is 1 meter. What is the perimeter of the big triangle in meters?
WMEFTR - —ER=AEHESERE TEFB=AF - KE/N=MAENSRAIK - K=/
HFARZZ K ?

-

Im

(A) 15 (B) 17 (C) 18 (D) 20 (E) 21

16. In the garden of a witch there are 30 animals: dogs, cats and mice. The witch turns 6 dogs into
cats. Then she turns 5 cats into mice. Now her garden has the same number of dogs, cats and mice.
How many cats were there at the beginning?

LRRETEREAER 308 « H > SERER o LW ARAFC A BAL T 5t  RRMITS LA T E M -
Bl AT B M R B AT - SEAE R - RIPGARTR 20 851 7

(A) 4 (B) 5 (C)9 (D) 10 (E) 11
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17. With blocks of dimension 1lcm X lem X 2cm, you can build towers as shown in the picture. How
high is a tower that is built in the same way with 28 blocks?

AR » AT MER RS Bslem x lem x 2emAVREAEE R o #ZRIBKAY 7 268 F 28 SR i i
HEELRE ?

fi £

9cm (B) 11cm (C) 12cm (D) 14cm (E) 17cm

18. Bridget folded a square sheet of paper twice, and then cut it twice as shown in the figure. How
many pieces of paper will she get?

QNG F7R » Bridgetif—5RIET A IrABMIK - RIRBY T W] - i & REIZ D42

an ¥

e fl) = e

(A) 6 (B) 8 (C) 9 (D) 12 (E) 16

19. Alex, Bob and Carl go for a walk every day. If Alex doesn’t wear a hat, then Bob wears a hat.
If Bob doesn’t wear a hat, then Carl wears a hat. Today Bob is not wearing a hat. Who is wearing a
hat?

Alex, BobfCarlg KEEHS o MR AlexNHET » FREBobE HilEF o WRBobANMilE T » FB
JECarl & HET o 4 KBobid HWINET - Rz &R T ?

(A) Both Alex and Carl Alex#Carl (B) Only Alex HFAlex
(C) Only Carl HF Carl (D) Neither Alex, nor Carl AlexflCarl&{¥%2H
(E) It is not possible to determine. fEJEHEE o

20. Each of the following pictures shows the net of a cube. Only one of the resulting cubes has a
closed line on it. Which one?
DU R e #8 2 — 18 32 75 B8 A T R B I - 7 RS 788 A — R &H — M S 4RIk -
il 2 R — 1 2

\ N
| N o

M

N
(B) ] (©) |

N A
|
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Part 3: 10 problems, 5 points each | B =#%" : 10;8&EE » B&E55

21. The cube shown in the figure below has a positive integer written on each face. The products of
the two numbers on opposite faces are the same. What is the smallest possible sum of the six numbers
on the cube?

0T B AR A AL 75 R RO T R AR —(E (£ BB - 2 ARSI AR R B SRR R AHRIRY o f 2
77 ENEER AR N T RER 24 ?

15))

(A) 36 (B) 37 (C) 41 (D) 44 (E) 60

22,

Six identical black beads and three identical white beads are arranged on weighing scales as shown
in the picture. What is the total weight of these nine beads?

R R EREANEMARNRBEARTFHN=FEFRNE AT - MELERTHRAER

e ?

(A) 100 g (B)99 g (C) % g (D)94 g (E)90 g

23. Robert made 5 statements (A) - (E), exactly one of which is false. Which one?
Robertf{( i T (A) - (E)HI5{EBRUL » A — =R o FE%—E ?
(A) My son Basil has 3 sisters. FHJ5FBasilfg = {EHLk
(B) My daughter Ann has 2 brothers. 2 58 Ann/E Wi .55
(C) My daughter Ann has 2 sisters. FHIZ 5 Ann WAEIELE -
(D) My son Basil has 2 brothers. /5. F BasilF MifE .5 o
(E) I have 5 children. FA5EZT °
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24. Benjamin writes an integer in the first circle and then fills the other five circles by following the
instructions. How many of the six numbers in the circles are divisible by 3?

BenjaminE 55 — {8 [ B 7 55 A\ — (BB » SRR % R 7R A L At 108 [ P o 3 o o B o A 7 1
BUR £ D (EREBSRERR ?

O=OROROEORO
(A)1 1A

(B) both 1 and 2 are possible 7] B2 11/ 2k 21
(C) 2 2ff

(D) both 2 and 3 are possible 7] BE& 21 5 3{#
(E) both 3 and 4 are possible AJ g2 31/ 2k 41H

25.

The cardboard is folded into a 2 x 1 x 1 box. Which picture does NOT show this box?
AT —E2 x 1 x 1&F o TEWRREF BROAEER/ET ?

o

(D)

26. Emily took selfies with her 8 cousins. Each of the 8 cousins is in two or three pictures. In each
picture there are exactly 5 cousins. How many selfies did Emily take?

Emily i)/ \BR TR —EH T BHR o SMERILE FHE—(EEEMRI=REA+F - =
SR AR A SERH - MEmilyfa T £/ 5R HIHE ?

(A)3 (B) 4 (C)5 (D) 6 (E)7
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27. Jette and Willi are throwing balls at two identical pyramids of 15 cans. Jette knocks down 6
cans with a total of 25 points. Willi knocks down 4 cans. How many points does Willi score?

JetteATWilli =] i 58 2 — 1% A FH 15E RESHAH i) & FEEHBEK o JetteXBE T 6fF BEE 1S 2255 ©
Willi# {8 T 4(EH5E - MWilig /L0502

- eIzl
@ alule)s
after Jette's throw after Willi's throw
Jettef 8 L% Willift# LL1%
(A) 22 (B) 23 (C) 25 (D) 26 (E) 28

28. Every digit on my digital clock is composed of at most 7 segments, as follows:

FA B S ABF R L HTBAEA TR » AR

0 123456789

But, unfortunately, in every set of 7 segments the same 2 segments don’t work.
AT EEEBREFRTERAT » HEHR2BRAEER -
At this moment my clock shows

W2 B SRR R A

What will it show after 3 hours and 45 minutes?

13/ NRF 4553 1R & EARBEUR ?

J T J [ T (I
() IEIEESS N o LI
RInEEIN N[e{EE
(o, LEAEI i, IEIMESIS

29. Linas builds a 4 x 4 X 4 cube using 32 white and 32 black 1 X 1 x 1 cubes. He arranges the cubes
so that as much of the surface of his large cube is white. What fraction of the surface of his cube is
white?

Linas{# i 32{f B &M32{ER 1 x 1 x 13275 H8EE—{E4 x 4 x 4327788 - fHEFE L T HES
RILFTHEHRE LA RATEEZHNEZERA - WAL TRMRE A8 28?7

(4) (B) 5 ©: ™) ()

| W

30. Zev has two machines: one exchanges 1 white token into 4 red tokens, while the other exchanges

1 red token into 3 white ones. Zev has 4 white tokens. After exactly 11 exchanges, he has 31 tokens.
How many of those are red?

ZevEM G HA © — B 1A S B RBEA AR - 15 —6 A EAL AR RABEEE
W o ZevE4E B EAUE - BRI 11K > fAERE - MEFE L DERAERN?

(A) 21 (B) 17 (C) 14 (D) 27 (E) 11



